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Motations :
1. Cptions shown in green color and with ¥ icon are correct.

2 Options shown in red color and with # icon are incorrect

VERBAL ABILITY AND READING COMPREHENSION

Question Type: COMPREHENSION Questions: No Question Numbers: (1 to 6)

The passage belowis accompanied by a set of six questions. Choose the best answer to each question.

Understanding where you are in the world is a basic survival skill, which is wiiy we, like most species come
hard -wired with specialised brain areas to create cognitive maps of cur surroundings. Where hwmans are
unique, though, with the possible exception of honeybees, is that we try o comrmunicate this understanding of
the world with others. We have 3 long history of doing this by drawing maps - the earliest versions vet
discovered were scrawled on cave walls 14,000 years ago, Hurman cultures have been drawing them on stone
tablets, papyrus, paper and now COrmputer SCreens aver Since.

Given such a long history of human map-making, it is perhaps surprising that it is only within the last few
hundred years that north has been consistently considerad to be at the top. In fact, for much of human
history, north almost never appeared at the top, according to Jerry Brotton, a2 map historian... “MNorth was
rarely put at the top for the simple fact that north is where darkness comes from,” he savs. "West is also very
unlikely to be put at the top because west 15 where the sun disappears.”

Confusingly, early Chinese maps seem to buck this trend. But, Brotton, says, even though they did have
compasses at the time, that isn't the reason that they placed north at the top. Early Chinese compasses were
actually oriented to point south, which was considerad to be more desirable than deepest darkest north. But in
Chinese maps, the Emperor, who lived in the north of the country was always put at the top of the map, with
everyone else, his loyal subjects, looking up towards him "In Chinese culturs the Emperor looks south because
it’s where the winds come from, it's a good direction. MNorth is not very good but you are in a position of
subyjection to the emperor, s you look up to him,” says Brotton.

Giverl that each culture has a very different idea of who, or what, they should look up to it's perhaps not
surprising that there is very little consistency in which way early maps pointed. In ancient Egyptian times the
top of the world was east, the position of sunrise. Early Islamic maps favoured south at the top because most
of the early Muslim cultures were north of Mecca, so they imagined looking up (south) towards it. Christian
maps from the same era (called Mappa Mundi) put east at the top, towards the Garden of Eden and with
Jerusalerm in the centre,

S50 when did everyvone get together and decide that north was the top? It's tempting to put it dowmn o Buropean
explorers like Christopher Columbus and Ferdinand Megellan, who were navigating by the North Star. But
Brotton argues that these early explorers didn't think of the world like that at all. “When Columbus describes
the world it is in accordance with east being at the top,” he says. "“Columbus says he is going towards paradise,
50 his mentality 15 from a medieval mappa mundi.” We've got 1o remember, adds Brotton, that at the time, "no
one knosws what they are doing and where they are going.”

Sub questions Question Number: 1 Question Id: 4891685913 Question Type: MCQ Option Shuffling: Yes
Display Question Number: Yes  Single Line Question Option: No Option Orientation: Vertical Correct: 3 Wrong : 1

Which one of the following best describes what the passage 1s tryving to do?
Options
1. ¥ It questions an explanation about how maps are designed

2. % [t corrects a ITNSCoOnNception albaout the way rmaps are desigrned.
S ®| It critiques a methodology used to create maps
4

. B It explores some mvths about maps.
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Question Number : 2 Question Id : 4891685914 Question Type : MO Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

Early maps did NOT put north at the top for all the following reasons EXCEPT
Options :

1. ¥ North was the source of darkness.

2. ¢ South was favoured by some emperors,

3. ® East and south were more important for religious reasons for some Civilisations,
4. ® East was considered by some Civilisations to be a more positive direction.

Ouestion Number : 3 Ouestion Id : 4891685915 (Ouestion Type : MO Opton Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

According to the passage, early Chinese maps placed north at the top because
Options :

1. ® the Chinese invented the compass and were aware of magnetic north

2. ¥ they wanted to show respect to the ermperor

3. ® the Chinese emperor appreciated the winds from the south,

4. ® north was considered the most desirable direction.

Question Number : 4 Question Id : 4891685916 Question Type : MCOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

It can be inferred from the passage that European explorers like Columbus and Megellan
Options :

1. ® set the precedent for north-up maps

2 ® navigated by the compass.

=, ¥ used an eastward orientation for religious reasons.

4. ¥ navigated with the help of early maps.

Question Number : 5 Question Id : 4891685917 Question Type : MCOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1
Which one of the following about the northern orientation of modern maps is asserted in the passage?

Options :

1. ¥ The Liggest contributory factor was the understanding of magnenc north.
2. ¥ The biggest contributory factor was the role of European explorers,

3. % The biggest contributory factor was the influence of Christian maps,

4, v The biggest contributory factor is not stated in the passage,
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Question Number : 6 Question Id : 4891685918 Question Type : MO Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

The role of natural phenomena in in ﬂuencing MAap-making conventions Is seer most clearly in
(Options :

1, ¢ early Egyvptian maps

2. ® early Islamic maps

2. ® early Chinese maps

4 % garly Christian maps

Question Ld : 4891685936 Question Tyvpe : COMPREHENSION Sub Question ShufMling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (7 to 12)

The passage belowis accompanied by a set of six gquestions. Choose the best answer to each guestion.

1 used a smartphone GPS to find my way through the cobblestoned maze of Geneva's Old Town, in search of a
handmade machine that changed the world more than any other invention. MNear a 13th-century cathedral in
this Swiss city on the shores of a lovely lake, [ found what [ was looking for: a Gutenberg printing press. "This
was the Internet of its day — at least as influential as the iPhone,” said Gabriel de Montmollin, the director of
the Museum of the Reformation, toving with the replica of Johann Gutenberg's great invention.

[Before the invention of the printing press] it used to take four monks. . up to a year to produce a single book,
With the advance in movable type in 15th-century Europe, one press could crank out 2,000 pages a day.
Before long, average people could travel to places that used to be unknown to them — with maps! Medical
information passed more freely and quickly, diminishing the sway of quacks. .. The printing press offered the
prospect that tyrants would never be able to kill 3 book or suppress an idea. Gutenberg's brainchild broke the
monopoly that clerics had on scripture. And later, stirred by pamphlets from a version of that same press, the
AMMEerican Colonies rose up against a king and gave birth to a nation.

S0, @ question in the summer of this 10th anniversary of the iFhone: has the device that is perhaps the most
revolutionary of all trme given us a single magrificent dea? MNearly every advancement of the written word
through new technology has also advanced humankind, Sure, yvou can say the iPhone changed everything. By
putting the world's recorded knowledge in the palm of a hand, it revolutionized work, dining, travel and
socializing. [t made us more narcissistic — here’s more of me doing cool stuffl — and it unleashed an army of
awful trolls. We no longer have the patience to sit through a baseball game without that reach to the pocket,
And one more casualty of Apple selling more than a billion phones in a decade’'s time: daydreanmung has
become & lost art,

For all of that, I'm still waiting to see if the iPhone can do what the printing press did for religion and
democracy...the Geneva museum makes a strong case that the printing press opened more minds than
anyttung else. (it's hard to umagine the Frénch or Amercan revolutions without those enlightenad vouces in
print...

Not long after Steve Jobs introduced his iPhone, he said the bound book was probably headed for history’s
attic. Mot so fast. After a period of rapid growth in e-books, something closer to the medium for Chaucer's
wolumes Nas made 3 great comebaclk.

The hope of the iPhone, and the Internet in general, was that it would free people in closed societies. But the
failure of the Arab Spring, and the continued suppression of ideas in North Korea, China and Iran, has not
borne that out.. The iPhone is still young, It has certainly been “one of the most important, world-changing
and successful products in histary,” as Apple CEO. Tim Cook said. But I'm not sure if the world changed for
the better with the iPhone — as it did with the printing press — or merely changed
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Sub guestions

Question Number : 7 Question Id : 4891685937 Question Tvpe : MO Option Shuffling : Yes Display Question Number @ Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

The printing press has been likened to the Internet for which one of the following reasons?
Options :

1. ¢ [t enabled rapid access to new information and the sharing of new ideas.

2. % It represented new and revolutionary technology compared to the past.
3. % [t encouraged reading among people by giving them access to thousands of books
4 % [t gave people access to pamphlets and literature in several languages.

Question Number : 8 Question Id : 4891685938 Question Type : MOOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

According to the passage, the invention of the printing press did all of the following EXCEFPT
Options :

1. ® promoted the spread of enlightened political views across countries

2 ® gave people direct access to authentic medical information and religious texts,
3. ¥ shortened the time taken to produce books and pamphlets

4, ¢ enabled people to perform various tasks simultaneously

Question Number @ 9 Question Id @ 4891685939 Qucstion Type : MOQ Option Shuffling © Yes Display Question Number @ Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

Stewe Jobs predicted whuch one of the following with the introduction of the iIPhone?
Options @

1. % Feople would swatch from reacing on the Internet to reading on their iPhones,
2 % People would lose imterest in historical and traditional classics

3 v Feading printed books would become a thing of the past

4. ¥ The production of e-books would eventually fall.

Question Number : 10 Question Id : 4891685940 Question Type : MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1
“T'm still waiting to see if the iPhone can do what the printing press did for religion and democracy . ” The
author uses which one of the following to indicate his uncertainty?

Options :

1. ¥ The rise of religious groups in many parts of the world

2. ¥ The expansion in trolling and narcissism among users of the Internet
3. ' The continued suppression of free speech in closed societies

4. ¥ The decline in reading habits among thosse who use the device

Question Number : 11 Question Id : 4891685941 Question Type : MO Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1
The author attributes the French and American revolutions to the invention of the printing press because
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Options :
1. ¥ maps enabled large numbers of Europeans to travel and settle in the American continent

2. ¥ the rapid spread of information exposed people to new ideas on freedom and democracy

3. % gt encouragad religious freedom among the people by destroving the monopoly of religious leaders on the
SCriptures

4, % it made available reyolutionary strategies and opinions o the people.

Question Number : 12 Question Id : 4891685942 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

The main conclusion of the passage i1s that the new technology has

Options :
1. ¥ some advantages, but these are outweighed by its disadvantages.

2 ¢ 5o far not proved as successful as the printing press in opening people’s minds.
3. ¥ been disappointing because it has changed society too rapidly
4. ® peen more wasteful than the printing press because pecple spend more time daydreaming or surfing.

Question Id : 4891685985 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (13 to 18)

The passage belowis accompanied by a set of six gquestions. Choose the best answer to each gquestion.

This year alone, more than 8,800 stores could close, according to industry estimates, many of them the brand-
name anchor outlets that real estate developers once stumbled over themselves to court. Already there have
been 5,200 retail closings this vear .. Sears Holdings—--which owns Kmart-—-said in March that there's
"substantial doubt” it can stay in business altogether, and will close 300 stores this year. 5o far this year, nine
national retail chains have filed for bankruptcy.

Local jobs are a major casualty of what analysts are calling, with only a hint of hyperbole, the retail
apocalypse. Since 2002, department stores hawve lost 448,000 jobs, a 25% decline, while the number of store
Closures this year 1s On pace to surpass the worst depths of the Great Eecession. The growth of online retanlers,
meanwhile, has failed to offset those losses, wath the e-commmerce sector adding just 178,000 jobs over the
past 15 vears. Some of those jobs can be found in the massive distribution centers Amazon has opened across
the country, often not too far from malls the company helped shutter,

But those are workplaces, not gathering places. The mall is both, And in the §1 years since the first enclosed
one opened in suburtan Minnsapolis, the shopping mall has been where a huge swath of middle-class
Armernica went for far more than shoppng. It was the home of first jobs and blind dates, the place for faruly
photos and ear piercings, where goths and grandmothers could sornehosw wallk through the same doors and
find something they all liked. Sure, the food was lousy for you and the oceans of parking lots encouraged car-
heawy development, something now scorned by contemporary planners. But for better or worse, the mall has
been America’s public sguare for the last 80 yvears

So what happens when it disappears?

Think of your mall. Or think of the one you went to as a kd. Think of the perfume clowds in the department
stores. The fountaims splashung below the skeyhights. The annarmon waftang from the food court. As far back as
ancient Greece, societies have congregated around a central marketplace. In medieval Europe, they were
outside cathedrals. For half of the Z0th century and almost 20 years into the new one, much of America has
found their agora on the terrazzo between Orange Julius and Sharro, Waldenbooks and the Gap, Sunglass Hut
and Hot Topic.

That rmall was an ecosystern unto itself, a combination of corrrmunity and conrmercialism peddling evervthing
you needsd and everything you didn't: Magic Eye posters, wind catchers, Air Jordans. .

A growing number of Americans, howevar, don't see the need to g0 10 any Macy's at all. Our digital lives are
frictionless and ruthlessly efficient, with retail and romance available at a click. Malls were designed for
leisure, abundance, ambling. You parked and planned to spend some time, Today, muach of that time has been
given over to busier lives and second jobs and apps that let vou swipe right instead of haunt the food court
Malls, =ays Harvard business professor Leonard Schlesinger, "were built for patterns of social interaction that
increasingly don't exist.”
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Sub gquestions

Cruestion Number : 13 Question Id : 4891685986 Question Type : MOQ Option Shoffling : Yes Display Question Number : Yes
Single Line (Jnestion Option @ Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

The central idea of this passage is that:

Options :

1. ¥ the closure of malls has affected the econormic and social life of middle-class America.

2. ® the advantages of malls outweigh their disadvantages.

3. ¥ malls usad to perform a social functon that has been lost.

4. ® malls are closing down because people have found alternate ways to shop.

Cruestion Namber @ 14 Question ld : 48916853987 Question Tvpe @ MOO tion Shuffling : Yes Display (Question Number @ Yes
Single Line Qlestmn Owption : No ﬂptmn Orientation = '\-ertll:: Op -

Correct : 3 Wrong : 1

Why does the author say in paragraph 2, the massive distribution centers Amazon has opened across the
country, often not too far from malls the company helped shutter'?

(dptions :

1. v To highlight the irony of the situation

2. % Tomdicats that malls and distribution centres are located in the same area
3 ¥ To show that Amazon is helping certain brands go cnline.

4 ¥ Toindicate that the shopping habits of the American middle class have changed.

Omestion Mumber : 15 Question 1d : 4891685988 Question Type : MO} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

In paragraph 1, the phrase "real estate developers once stumbled over themselves to court” suggests that they
Options :

1. ¥ took brand-name anchor outlets to court.

2 ¥ no longer pursue brand-name anchor outlets.

3. ¥ collaborated with one another to get brand-name anchor outlets.

4 ® were eager to get brand-narme anchor outlets to set up shop in their mall.

Question Number : 16 (Question I1d : 4891683989 Question Type @ MOy tion Shuffling : Yes Display Question Number : Yes
Single Line (Juestion Option : No Option Orientation : '\-ertn:gl Or F

Correct : 3 Wrong z 1

The author calls the mall an ecosystem unto itself because
Options :

1. ¥ people of all ages and from all walks of life went there.

2 ¥ people could shop as well as eat in one place.

2 % it was a comrmercial space as well as a gathering place.

4. ® it sold things that were needed as well as those that were not.

Omestion Number : 17 Question 1d : 4891685990 Question Type : MO} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

why does the author say that the mall has been America’s public square?

(ptions :

1. ¥ Malls did not bar anvbody from entering the space.

2. % Malls were a great place to shop for a huge section of the middle class.

3. ¥ Malls were a hangout place where families grew close to each other.

4 % Malls were a great place for everyone to gather and interact.
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Ouestion MNumber : 18 Question Id : 4891685991 Question Type : MOQ Option Shaffling : Yes Display Question Number : Yes
Single Line (juestion Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

The author describes ‘Perfurme clouds in the department shores” i order bo

Oiptions :

 evoke memories by painting a picture of malls.

¥ describe the smells and sights of malls.

¥ emphasise that all brands were available under one roof.

WA Y

s

® chow that malls smelt good because of the various stores and food court

glﬂtilﬂ] Id : 4891685862 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
nestions : Mo

Juestion Numbers @ (19 o 21)

The passage below is accompanied by a set of three guestions. Choose the best answer to each guestion.

Scientists have long recognised the incredible diversity wathin a species. But they thought it reflected
evolutionary changes that unfolded imperceptibly, over millions of years. That divergence between
populations within a species was enforced, according to Ernst Mayr, the great evolutionary biclogist of the
13403, when a population was separated from the rest of the species by a mountain range or a desert,
preventing bresding across the divide over geologic scales of time, Without the ssparation, gene flow was
relentless. But as the saparation persistad, the isolated population grew apart and speciation occurrad.

In the mid-1960s, the iclogist Faul Enrlich - author of The Populatnon Bomb (1958) - and his Stanford
Urnwersity colleague Peter Raven challenged Mayr's ideas about speciation. They had studied checkerspot
butterflies living in the Jasper Ridge Biological Preserve in California, and it soon became clear that they were
not examining a single population. Through years of capturing, marking and then recapturing the butter flies,
they were able to prove that within the population, spread over just S0 acres of suitable checkerspot habitat,
thers wers three groups that rarely interacted despite their very close proxirmity.

Among other ideas, Ehrlich and Raven argued in a now classic paper from 1969 that gene flow was not as
predictable and ubiquitous as Mayr and s cohort maintamed, and thus evolutionary divergence Detwaan
neighbouring groups in a population was probably common. They also asserted that isolation and gerne flow
were |ess important to evolutionary divergence than natural selection (when factors such as make choice,
weather, disease or predation cause better-adapted individuals to survive and pass on their successful genetic
traits), For example, Ehrlich and Raven suggested that, without the force of natural selection, an isolated
population would remain unchanged and that, in other scenarios, natural selection could be strong enough to
awerpower gene flow...

Sub questions

Cuestion Number : 19 Question Id : 48916853863 Question Type : MO tion Shuffling : Yes Display Question Sumber : Yes
Single Line Qruestion Option : No Option Orientation : \-'ertic;I Op ) »

Correct : 3 Wrong : 1

Which of the following best sums up Ehrlich and Raven's argument in their classic 1969 paper?
Oiptions :

1. ¥ Ernst Mayr was wrong in identifying physical separation as the cause of species diversity.

2. % Checkerspot butkerflies in the S0-acre Jasper Ridge Preserve formed three groups that rarely interacted
with each other.

3« While a factor, isclation was not as irmportant to spaciation as natural selection.
4 ® Gene flow is 1ess commeon and more erratic than Mayr and his colleagues claimed.
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Ouestion MNumber @ 20 Question Id : 48916853864 Question Type : MOQ Option Shoffling : Yes Display Question Number : Yes
Single Line Qruestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

All of the following statements are true according to the passage EXCEFT

Options :

1. ¥ Gene flow contributes to evolutionary divergence

2 % The Fopulation Bormb guesticneaed dominant ideas about species diversity.

2. ¥ Evolutionary changes unfold imperceptibly over tirme.

4 ¥ Checkerspot butherflies are known to exhibit Speciation whils living in close prosdimity

Ouestion Mumber @ 21 Question Id : 4891683865 Question Type : MOQ Option Shoffling : Yes Display Question Number : Yes
Single Line (uestion Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

The author discusses Mayr, Ehrlich and Eawven to demonstrate that

Orptions :

1. ¥ evolution is a sensitive and controversial topic.

2. ¥ Ehrlich and Raven's ideas about evolutionary diver gencea are widaly acceptad by Scientists.

2. % the causes of speciation are debated by scientists.
4. ¥ checkerspot butterflies offer the best example of Ehrlich and Rawen's ideas about speciation

Ouestion Id @ 489165893 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Daestions 1 ™o

Oruestion Mumbers @ (22 to 24)

The passage below is accompanied by a set of three guestions. Choose the best answer to each guesti on.

Do sports mega events like the surmmer Olyrmpic Garmes benefit the host city econormically? [+ depends, but the
prospects are 1ess than rosy. The trick is converting .. sewveral billion dollars in operating costs during the 17 -
day fiesta of the Games into a basis for long-term economic returns. These days, the summer Olympic Games
themselves generate total revenue of $4 billion to §5 billion, but the lion's share of this goes to the
International Olympics Cormumittes, the MNatonal Olympics Cormurittees and the International Sports
Federations. Any econormric benefit would hawe o flow from the value of the Games as an advertissrnent for
the city, the new transportation and corrrmunications infrastructure that was created for the Garnes, or the
ongoing use of the new facilities.

Evidence suggests that the advertusing effect 15 far from certain. The mfrastructure benefit depends on the
inital condition of the city and the effectiveness of the planning. The facilities tenefit is dubious at best for
buildings such as velodromes or natatoriums and problematic for 100, 000-seat Olympic stadiums. The latter
require a conwversion plan for future use, the former are usually doomed to near vacancy. Hosting the surmmer
Games generally requires 30-plus sports venues and dozens of training centers. Today, the Bird's Mest in
Beijirg sits virtually ermmpty, while the Clyrmpic Stadium in Sydney coses some 330 million a year to operate.

Part of the problern is that Olyrmpdics planning @akes place in a frenzied and bdme-pressured atmosphersa of
1tarse Correetition with the other prospectiye ost aties — not optirnal conditions for conternplating the
future shape of an urban landscape. Another part of the problermn is that urban land is geneaerally scarce and
growing scarcer. The new facilities often stand for decades or longer. Even if they hawe future use, are they the
best use of precious urban real estate?

Further, cities must consider the human cost. Residential areas often are razed and citizens relocated (without
adequate preparation or compensation). Life is made more hecric and congestaed. There are, after all, other
productve uses that can be made of vanishing fiscal resources.

Sub gquestions

JQuestion MNumber : 22 Question Id : 4891633894 OQuestion Type @ WOO) tion Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Mo Option Orientation : '\-’ertic:fl Ov - »

Correct : 3 Wrong 2 1
The central point in the first paragraph is that the economic benefits of the Olympic Games
Omns X

¥ are shared equally among the three organising cormmittess

i

¥ accrue mostly through revenue from advertiserments and ticket sales
" accrue to host citles, if at all, only in the long terrm.
¥ are usually ercded by expenditure incurred by the host City.

LSV I VR
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Cruestion Number : 23 Question Id : 4891685895 Question Type : MOQ Option Shoffling : Yes Display Question Number : Yes
Single Line {ruestion Option : Mo Option Orientation @ Vertical )

Correct : 3 Wrong : 1

Sports facilities built for the Olympics are not fully utilised after the Games are over because
(rptions :

1. ¥ their scale and the costs of operating them are large.

2. ¥ their location away from the city centre usually limits easy access.

3. * the authorities do not adapt them to local conditions.

4. ® they become outdated having being built with little planning and under time pressure.

Cmestion Number : 24 Question Id : 489168589 Question Type : MOQ Option Shoffling : Yes Display Question Number : Yes
Single Line (Juestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1
The author feels that the Games place a burden on the host city for all of the following reasons EXCEFT that
Oiptions :

1. ¥ they divert scarce urban land from more productive uses

2. % they involve the demalition of residential structures to accommeodate sports facilities and infrastructure
3. ¥ the finances used t0 fund the Games could be better used for other purposes.

4. ¥ the influx of visitors during the Games places a huge strain on the urban infrastructure.

Sub-Section Number: 2
Sub-Section Id: 4891681309
Question Shuffling Allowed: Yes

Question Number : 25 Question [d : 4891686395 Question Type : MO Option Shuffing : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1
The passage given belowr 15 followed by four surmmmaries. Choose the option that Dest captures the author's
position,

To me, a “classic” means precisely the opposite of what my predecessors understood: a work is classical by
reason of its resistance to contemporaneity and supposed universality, by reason of its capacity to indicate
human particularity and difference in that past epoch. The classic is not what tells me about shared
hurmanity—or, more truthfully put, what lets me recognize myself as already present in the past, what
nourishes in me the illusion that everything has been like me and has existed only to prepare the way for me.
Instead, the classic is what gives access to radically different forms of human consciousness for any given
generation of readers, and thereby expands for them the range of possibilities of what it means to be a human
being

Options :

1. ® 4 classic is able to focus on the contemporary human condition and a unified experience of hurman
COMNSCIOUSIess.

2. #® A classical work seeks to resist particularity and temporal difference even as it focuses on a common
hurmanity

2. ¥ 4 classic is a work exploring the new, going beyond the universal, the contemporary, and the notion of a
urified human consciousness

4. ¥ A classic is a work that prowides access to a universal experience of the hurman race as opposad to
radically different forms of human consciousness,
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Question Number : 26 Question Id : 4891686396 (Juestion Type : MO} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

The passage given below 1s followed by four summaries. Choose the option that best captures the author’s
position.

A translator of literary works needs a secure hold upon the two languages involved, supported by a good
measure of familiarity with the two cultures. For an Indian translating works in an Indian language into
English, finding satisfactory equivalents in a generalized western culture of practices and symbols in the
original would be less difficult than gaining fluent control of contemporary English. When a westerner works
on texts in Indian languages the interpretation of cultural elements will be the major challenge, rather than
control over the grammar and essential vocabulary of the language concerned. It is much easier to remedy
lapses in language in a text translated into English, than flaws of content. Since it is easier for an Indian to
learn the English language than it is for a Briton or American to comprehend Indian culture, translations of
Indian texts is better left to Indians.

Options :

1. ¥ While translating, the Indian and the westerner face the same challenges but they have different skill
profiles and the former has the advantage

2 R Az preserving cultural meanings is the essence of literary translation Indians’ knowledge of the local
culture cutwelghs the imtial disadvantage of lower fluency in English

3. ¥ Indian translators should translate Indian texts into Enghsh as their work 15 1ess likely to pose cultural
problems which are harder to address than the quality of language.

4 % Wasterners might be good at gaining reascnable fluency in new languages, but as understanding the
Culture reflectsd in hiterature 15 crudial, Indians remam better placed.

Omestion Number : 27 Question Id : 4891686398 Question Type : MOC(Q) Option Shoffling : Yes Display Question Number : Yes
Single Line (juestion Option : Mo Option Orientation @ Vertical

Correct : 3 Wrong : 1

The passage given below is followed by four summaries. Choose the option that best captures the author's
POSIton.

For each of the past three years, ternperatures have hit peaks not seen since the birth of meteorology, and
probably not for more than 110,000 years. The amount of carbon dioxide in the air is at its highest level in 4
mullicn years. This does not cause storms like Harvey - there have always been storms and hurricanes along
the Gulf of Mexico - but it makes them wetter and more powerful. As the seas warm, they evaporate more
easily and provide energy to storm fronts. As the air above them warms, it holds more water vapour. For every
half a degree Celsius in warming, there is about a 3% increase in atmospheric moisture content. Scientists call
this the Clausius-Clapeyron equation, This means the skies fill more quickly and have more to durmp, The
storm surge was greater because sea leveals have risen 20 cm as a result of more than 100 years of hurnan-
related global warrning which has melted glaciers and thermally expanded the volwme of seawater.

Uiptions :
1 ¥ The storm Harvey is one of the regular, annual ones from the Gulf of Mexico; global warming and Harvey
are unrelated phenomena.

2 % Global warming does not breed storms but makes them meore destructive; the Clausius-Clapeyron
equation, though it predicts potential increass in atmospheric moisture conteant, cannot predict the scala of
darmage storms might wreck

3. ¥ Global warming melts glaciers, resulting in seawater volume expansion; this enables more water vapour
to fill the air abowe faster. Thus, modern Storms Contain rmore destructive energy.

4. % It is naive to think that rising sea levels and the force of tropical storms are unrelated; Harvey was
destructive as global warming has armed it with more moisture content, but this may not be true of all storms
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(uestion Number : 28 Question Id : 4891686010 (uestion Type : 54 Display Question Number : Yes

Correct : 3 Wrong :

The five senkences latelled L, 2, 2, 4, 5) given in thus queastion, when properly sequenced, form a coherent
paragraph. Each sentence is labelled with a number. Decide on the proper order for the sentences and key in
this sequence of five Numbers as your answer.

1. The process of handing down implies not 8 passive transfer, but some contestation in defining what exactly
is to be handed down,

2 Wherever Western scholars have worked on the Indian past, the selection is even more apparent and the
inwenting of a tradition much more recognizable,

3. Every generation selects what it requires from the past and makes its innovations, some more than others.
4 Tt s now a truism to say that raditions are not handed down unchanged, but are inventad,

5. Just as life has death as its opposite, 50 is radition by default the opposite of innovation.

Response Type: NMumeric
Evaluation Required For 5A: Yes
Answers Type: Equal

Question Number: 29 Question Id: 4891686018 Question Type: SA  Display Question Number: Yes Correct: 3
Wrong: 0 Possible Answers:

The five sentences (atelled 1, 2, 3, 4, 5) given in this guestion, when properly sequenced, forrm a coherent
paragraph. Each sentence 15 lat=lled with a numiser. Decide on the propser order for the sentences and kay in
this seguence of five numoers 83 your arswer.

1. Scientists hawe for the first time managed to edit genes in a haman embryo 10 repair & Sernetc matation,
fuelling hopes that such procedures may one day be available outside laboratory conditions.

2. The cardiac disease causes sudden death in otherwise healthy yvoung athletes and affects about one in 500
people oserall.

2 Correcting the mutation in the gene would not only ensure that the child is healthy but also prevents
transmission of the mutation to future generations,

4 It is causad by a mutation in a particular gene and a child will suffer from the condition even if it inherits
only one copy of the mutared gene.

5. In results announced in MNature this weel:, scientists fived a muatation that thicksns the heart muascle, a
condiricn called hypertrophic cardiomyopathy.

Response Type: Mumenc

Evaluation Required For SA: Yes

Answers Type: Equal

Possible Answers :

OQmestion Number : 30 Cuestion Id : 4891686028 Question Tyvpe : SA Display {Juestion Number : Yes

Correct : 3 Wrong = ()

The five senitences (labelled 1, 2, =, 4, 5) given in this question, when properly seqguenced, form a colsreant
paragraph. Each sentence 15 latwlled wath a numiser. Decide on the proper order for the sentences and kay in
this sequence of five numbers as your answer.

1. The study suggests that the disease did not spread with such intensity, but that it may hase driven human
mugrations across Europe and Asia

2. The cldest sample came from an individual who lived in southeast Russia about 5,000 years ago

2. The ages of the skeletons correspond to a time of mass exodus from today's Russia and Ukraine into
western Europe and central A5ia, suggesting that a pandemic could have driven these migrations

4 In the analysis of fragments of DMNA from 101 Bronse Age skeletons for sequences from Yersinia pestis, the
bacterium that causes the diseass, savern tested positive,

5. DMA from Eronze Age human skelerons indicate that the black plague could have emerged as early as 3,000
ECE, long t=fore the epidermic that swept through Europe in the mid-1200s.

Response Type: Mumenc

Evaluation Required For SA: Yes

Answers Type: Equal

Possible Answers :
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Question Number : 31 Question Id ; 4821686227 Question Type : 5A Display Question Number : Yes

Correct : 3 Wrong : 0

The five senitences (abelled 1, 2, 3, 4, 5) given in this question, when properly sequenced, form a coherent
paragraph. Each sentence is lab=lled wath a mumber. Decide on the proper order for the senitences and key in
this sequence of five numbers as your answer.

1. This wisual turn in social media has merely accentuated this announcing instinct of ours, enabling us with
easy-to-Create, easy-to-share, easy-to-store and easy-to-consume platforms, gadgets and apps

2. There is absolutely nothing new about us framing the vision of who we are or what we want, visually or
otherwise, in our Facebook page, for example.

3. Turning the pages of most family albums, which belong to a period well before the digital dissernination of
self-created and salf-curated moments and wmages, would reconfirm the basic instnct of docurmenting our
presence il a particular space, on a significant oocasion, with others who mather.

4. We are empowered to book our faces and act as celebrities wathin the confinement of our respective friend
lists, and communicate our activities, companionship and locations with minimal clicks and touches

5. What is unprecedented is not the desire to put out newsfeeds related to the self, but the ease with which this
broadeast operation can now be executed, often provoking (unjanticipated responses from beyond one's
imrnediate location.

Response Type: Numeric Evaluation Required For SA: Yes Answers Type: Equal Possible Answers:

Orestion Number @ 32 Question Id : 4891686007 CQuestion Type : SA Display Question Number @ Yes

Correct : 3 Wrong = )

Fiwe seniterices related to a topic are given balow. Four of them can be put together to form a meaningful and
coherent short paragraph. [dentify the odd one out.

1. People who study children’s language spend a lot of tirmne watching how babies react to the spesch they hear
arcund them.

2. They make films of adults and babies interacting, and examine them very carefully to see whether the
babies show any signs of understanding what the adults say

2. They believe that babies begin to react to language from the very moment they are born

4 Sormetimes the signs are very subtle - slight movements of the baby's eyes or the head or the hands,

5. ¥Wou'd never notice thern if you were just sitting with the child, buat by watching a recording over and over,
WOl CArl Spot thern

Hesponse Type: Mumeric

Evaluation Required For SA: Yes

Answers Type: Equal

Fossible Answers :

COrestion Number @ 33 Question Id : 4891686009 (Question Tyvpe : A Display Question Number @ Yes

Correct : 3 Wrong = )

Fiwe sentences related to a topic are given below. Four of them can be put together 1o form a meaningful and
coferent short paragraph. [dentify the odd one out.

1. MNeuroscientsts hawe just begun studying exercise's umnpact within brain cells — on the genes themselves.
2 Ewen there, in the roots of our biology, they've found signs of the body's influence on the mind.

2 It turns out that mowving our muscles produces proteins that trasel through the bloodstream and into the
brain, where they play pivotal roles in the mechanisms of our highest thought processes,

4 Intoday's technology —driven, plasma-screenad—in world, it's easy to forget that we are born movers —
animals, in fact — because we've engineered movermeant right out of our lives,

5. Itr's only in the past faw years that rneurcscientists have begun to describe these factors and how they work,
and sach new discovery adds awe-inspiring depth 1 the picture.

Response Type: Mumernic

Evaluation Required For 5A: Yes

Answers Type: Egual

Fossible Answers :
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(Question Number : 34 Question 1d : 4891686032 Question Type : 5A Display Question Number : Yes

Correct : 3 Wrongz :

Five sentenices related to a topic are given below. Four of them can be put together to form a meaningful and
coherent short paragraph. Identify the odd one out.

1. The water that made up ancaent lakes and perhaps an ooean was 1ost.

2. Particles from the Sun collided with molecules in the atmosphere, knocking them into space or giving thermn
an electric charge that caused them to e swept away by the solar wind.

2. Most of the planet's remaining water is now frozen or buried, but clues over the past decade suggested that
some liquid water, a presurmed necessity for life, might survive in underground agquifers,

4 Data from NASA's MAVEN orbiter show that solar storms stripped away most of Mars's once-thick
atmosphere.

5 A recent study reveals how Mars lost muach of its early water, while another indicates that sorme liguid water
TEIT=8ins.

Response Type: Numeric Evaluation Required For SA: Yes Answers Type: Equal Possible Answers: 1

DATA INTERPRETATION AND LOGICAL REASONING

Question Id : 4891685546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No

Question Numbers : (35 to 38)

Healthy Bites is a fast food joint serving three items: burgers, fries and ice cream. It has two employees
Anish and Bani who prepare the items ordered by the clients. Preparation time is 10 minutes for a burger
and 2 minutes for an order of ice cream. An employee can prepare only one of these items at a time. The
fries are prepared in an automatic fryer which can prepare up to 3 portions of fries at a time, and takes S
minutes irrespective of the number of portions. The fryer does not need an employee to constantly attend
to it, and we can ignore the time taken by an employee to start and stop the fryer; thus, an employee can
be engaged in preparing other items while the frying is on. However fries cannot be prepared in
anticipation of future orders.

Healthy Bites wishes to serve the orders as early as possible. The individual items in any order are served
as and when ready; however, the order is considered to be completely served only when all the items of
that order are served.

The table below gives the orders of three clients and the times at which they placed their orders:

Client no. Time Order

1 | 10:00 1 burger, 3 portions of fries. 1 order of ice cream
2 10:05 2 portions of fries, 1 order of ice cream
3 10:07 1 burger, 1 portion of fries

Sub questions

Puestion Number : 35 Question Id : 4891685547 Question T}'p! MOQ Oprion Shuffing : Yes Display Question Namber : Yes
Single Ling Question Option : Mo Option Orientation : Ver

Corrvect : 3 Wrong : 1
Assume that only one client's order can be processed at any given point of Hme. 5o, Anish or Bani cannot start
preparing a new order while a previous order is being prepared

At what time is the order placed by Client 1 completely served?

Options =

1. % 10017
& 1010
® 10:15
4 & 1020

!'-.'.l

]
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Duestion Mumber @ 36 Question Id : 4821685548 Question T}'_pe MO Option Shaffling @ YVes Display Question Number @ Yes
Single Line Question COption : No Option Orientation = Vertica

Correct : 3 Wrong @ 1
Assume that only one client's order can be processed at any given point of tirpe. So, Anish or Bani cannot start
preparing a new order while a previous order is being prepared

At what time is the order placed by Chent 3 completely served?
ptions =

1. ® 10:35

= ® qozz

3. % 1025

4 ® 10017

Duestion Mumber : 37 Question Id : 4821685549 Question T}'_pe MO Option Shaffling @ YVes Display Question Number @ Yes
Single Line Question COption : No Option Orientation = Vertica

Correct : 3 Wrong & 1

Suppose the employess are allowsed to process multiple orders at a time, but the preference would be to finish
orders of Clients wio placed their orders earlier.

At what time is the order placed by Chent 2 completely served?
ptions =

1% 1010

= ® 101z

3 ® 10015

4 ® 10017

Duestion Mumber @ 38 Question Id : 4821685550 Question T}'_pe MO Option Shaffling @ YVes Display Question Number @ Yes
Single Line Question COption : No Option Orientation = Vertica

Correct : 3 Wrong @ 1
Suppose the ernployess are allowsed to process multiple orders at a time, but the preference would be to finish
orders of clients who placed their orders sarher.

Al=o assume that the fourth client carme in only at 10 32, Betwesen 1000 and 10:30, for how many minutes is
exactly one of the employeses idle?

ptions =

1. ® 7

z w10

2 ® 1c

4 ® 23

Question Id : 4891686287 OQuestion Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions : No

Question Numbers : (39 1o 42)
A study to look at the early learming of rural kids was carried out In a number of villages spanning three
states, chosen from the North East (NE), the West (W) and the South [S). 50 four-year old kids each were
sampied from each of the 150 viliages from NE, 250 villages from W and 200 villages from S. It was found

that of the 30000 surveyed kids 55% studied In primary schools run by government {(G), 379 in private
schools (P) while the remaining 8% did not go to school (O).

The kids surveyed were further divided into two groups based on whether their mothers dropped out of
school before compileting primary education or not. The table below gives the number of kids in different
types of schools for mothers who dropped out of school before completing primary education:

G L o Total
4200 S00 300 S000
4200 1900 1200 7300
5100 300 300 5700
Total 13500 2700 1800 18000

It is also known that:

1. In S, 605 of the surveyed kids were in G. Moreover, In S, all surveyed kids whose mothers had
completed primary education were in school.

2. In NE, among the O kids, SO0% had mothers who had dropped out before compileting primary
education.

3. The number of kicds in G in NE was the same as the number of kids in G in ' W.
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Sub gquestions

Duestion Number @ 39 Question Id : 4891686288 Question Type : MOQ Option Shulffing : Yes Display Question ¥Number @ Yes
Single Line Question Option : Mo Option Orientation @ YVertical

Correct : 3 Wrong : 1
What percentage of kads fromm 5 were studying in F?

Oiptions =
1. % 27%
o B g
3. B 7o
4 ® cex

Cuestion Number @ 40 Question Id : 4891686289 Question Type : MOQ Option Shuffling : Yes Display Question Number @ Yes
Single Line CQuestion Option : Mo Opiion Orientation @ YVertical

Correct : 3 Wrong & 1
AmMong the kds i Wowhos2 mothers had oompletad primary education, Doss many were not in school?
Oiptions =

1. % 200

2 ® 1200
3. ® 1050
g ® 1500

Duestion Number @ 41 Question Id : 489168629 Question Type : MOCQ Option Shuffing : Yes Display Question ¥Number : Yes
Single Line Question COption : Mo Option Orientation @ YVertical

Correct : 3 Weomg = 1

In a follow up survey of the same kids two years later, it was found that all the kids were now in schocl. OF the
kids who were not in school earlier, in one region, 25% were in & now, whereas the rest were enrolled in F; in
the second region, all such kids were in G now, while in the third region, S0% of such kids had now joined S

wihiile the rest had joined P. As & result, in all three regions put together, S0% of the kads who were earlier out of
school had joined S, 1t was also seen that no surveyed kad had changed schools

What number of the surveyed lkds now were in O imn Wy
(ptions =
1. % S000

® 5050
® 2750
4. ® &300

]

]

Juestion Number @ 42 Question Id : 4B21686291 Question Type : MOQ Option Shuffling : Yes Display Question Number @ Yes
Single Line Question (dption : No Option Orientation = Vertical

Correct : 3 Wrong &= 1

In a follow up survey of the same kids two years later, it was found that all the kids wers now in school, OF the
kids who were not i school earher, 1in one regron, 25% were in & now, whereas the rest were enrolled i P in
the second region, all 5uch kids were in G now, wihnle in the thard region, S0% of such kids had now Joaned G
wilile the rest had joirneed P, AS & result, in all three regions put together, S0% of the kids who weere earlier out of
school had joined S, It was also seon that no surveyed kid had changed schools.

What percentage of the surveyad kids in S, whose mothers had dropped out before complating pritmary
education, were in G nowy

Options =

1. % 94 7%
= 5%
A%

4, ® Cannot be derermined from the given information

I

=

w0
Lo
I

0]
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Ouestion ld : 4491686309 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Mo Group Comprehension
Coestions : Mo

Croestion Mumbers @ (43 to 46)

Applicants for the doctoral programmmes of Ambi Institute of Engineering (AIE) and Barmbd Institute of
Engineering BIE) have to appear for a Cormmon Entrance Test (ZET). The test has three sections: Physics (P),
Chermmistry (2), and Maths (M), Among those appearing for CET, those at or abowe the 80th percentile in at least
two sections, and at or above the 90th percentile overall, are selected for Advanced Entrance Test (AET)
conductad by AIE AET is used by AIE for final sslection,

For the 200 candidates who are at or abowve the S0th percentile overall based on CET, the fl:l]lﬂ‘i\fing are kroswrl
abeout their F'E['fDI'ﬂ'lEL['ICE in CET:

1. Mo one 15 below the 80th percentile in all 3 sections.

2 150 are at or above the 80th percentile in exactly two 5eCcHons.

2. The number of candidates at or above the 20th percentile only in P is the same as the number of candidates
at or abowe the B0th perceritile only in C. The same is the number of candidates at or akbowve the B0th
percentile only in k.

4. Nurmber of candidates below B0th percentile in P: Murmber of candidates below B0th percentile in C
Mumber of candidates telow 30th percentile in M = 4:2:1.

EIE uses a different process for selecton. If any candidate is appearing in the AET by AIE, BIE considers their
AET score for final selection provided the candidate is at or above the S0th percentile in P. Any other candidate
at or abowe the B0th percentile in P in CET, but who is not eligible for the AET, is required 1o appear in a
separate test 1o be conductad by EIE for being considerad for final selection. Altogether, there are 400
candidares this yedar who are at or above the S0th percentile in F.

Sub questions

;.'iali:::lﬁnf:huﬂi;nﬂ[};);::t:uﬂ:uld(ipﬁxﬁtﬂ::r:.%e:?:r;lggr : MOy Option Shuaffling : Yes Display Question Nuomber : Yes
Correct : 3 Wrong 2 1

What est can be concluded about the numt=r of candidates sitting for the separate test for BIE who were at
or abowve the 90th percentile owverall in CET?

Options :
« Zor 10
® 0
® S

® For 1o

=1

s W

Question MNumber : 44 Question 1d : 4891686363 Question Tyvpe : SA Display Question Number : Yes

Correct : 3 Wrong :

If the number of candidates who are at or abowe the 90th percentile owverall and also at or abowe the S0th
percentile in all three sections in CET 15 actually a mualtple of 5, what is the numier of candidates who are at
or aboere the 30th percentile owerall and at or abowve the S0th percentils in both F and MM in CETY

Response Tyvpe: Mumeric

Evaluation Required For 5A: Yes

Answers Type: Equal

Possible Answers :

Question MNumber : 45 Question 1d : 4891686364 CQuestion Tyvpe : SA Display Question Number : Yes

Correct : 3 Wrong :

If the number of candidates who are at or abowe the 90th percentile owverall and also at or abowe the 50th
percentile in all three sections in CET 15 actually a multple of 5, then how many candidates were shortlisted for
the AET for AIE?

Response Tyvpe: Mumeric

Evaluation Required For 5A: Yes

Answers Type: Equal

Possible Answers :
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COruestion Number : 46 Question Id : 4891686313 Question Type : MOQ Option Shoffling : Yes Display Qruestion Number @ Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

If the number of candidates who are at or above the 90th percentile overall and also are at or abdwe the 80th
percentile in P in <ET, 15 more than 100, how many candidates had to sit for the separate test for BIE?
Options :

1. ¥ 299

2. % 310

5. % 321

4. % 330

g:ginn Id : 4891686314 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
ions : Mo
uestion MNumbers : (47 to 30)

Simple Happiness index (SHI) of 3 country is computed on the basis of three parameters: social support
(S), freedom to life choices (F) and corruption perception (C). Each of these three parameters is
measured on a scale of O 1o 8 {integers only). A country is then categorised based on the total score
obtained by summing the scores of all the three parameters, as shown in the following table:

Total Score o4 5-8 9-13 14-19 20-24
Category Very Unhappy Unhappy Neutral Happy Very Happy

Following diagram depicts the frequency distribution of the scores in S, F and C of 10 countries - Amda,
Benga, Calla, Delma, Eppa, Varsa, Wanna, Xanda, Yanga and Zooma:

S

) a mSemFmC
3 3
g s
=
2 2 2
- X
P
! 1 1 1 3T 3
1
o l._.l l.l
1 2 3 & 5 = 7

Scores

Further, the following are known:

1. Amda and Calla jointly have the lowest total score, 7, with identical scores in all the three

parameters.

2. Zooma has a total score of 17.
3. All the 3 countries, which are categorised as happy. have the highest score in exactly one parameter.,

Sub guestions

Question Mamber @ 47 Question Id : 4891686365 Question Type : 5A Display Question Mumber @ Yes
Correct : 3 Wrong : 0

What is Amda’s score in F?

Response Type: Mumeric

Evaluation Required For SA: Yes

Answers Type: Equal

Possible Answers :

1
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(uestion Number : 48 Question Id : 4891686366 Question Type : A Display Question Number @ Yes
Correct : 3 Wrong :

What is Zooma’s score in 57

Response Type: Mumernic

Evaluation Required For SA: Yes

Answers Type: Equal

Fossible Answers @

Ouestion Number : 49 Question Id : 4891686317 Question Type : MO Option Shoffling : Yes Display Question Number : Yes
Single Line Question Option : Mo Option Orientation : Vertical

Correct : 3 Wrong 2 1

Eenga and Delma, two Countries Categorized as nappy, are t12d with the sarme total score. What 15 the
ITEXITITL SC0re they Can hawvea?

Options :

1. % 14

v 15

3% 18

4 *® 17

Question Namber : S0 Question Id : 4891686318 OQuestion Type : MO Option Shaffling : Yes Display Question Number : Yes
Single Line Question Option : Mo Option Orientation : Vertical

Correct = 3 Wrong @ 1

If Benga scores 16 and Delma scores 15, then what is the maximum number of countries with a score of 137

[+J

Omestion Id @ 4891686067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Mo Groop Comprehension
Jaestions : No

Duestion Numbers @ (51 to 34)

There are 21 employaes working in a division, out of whormn 10 are special-slalled amployees (SE) and the
remaining are regular-skilled emnployess (RE). During the next five months, the division has to complete five
projects every month. Out of the 25 progects, S projects are “challenging”, while the remaining ones are
“standard”. Each of the challenging projects has to be completed in different months, Every month, five teams
=TI T2 TZ T4 and TS, work on one project each. T1, T2, TEZ, T4 and TS are allotted the challenging project
in the first, second, third, fourth and fifth month, respectively. The team assigned the challenging project has
one more employes than the rest

In the first month, T1 has one more SE than T2, T2 has one more SE than TS, TS has one more SE than T4,
and T4 has one more SE than TS, Between two Successive months, the cormpositon of the tearms changes as
follows

a. The tearn allotted the challenging project, gets two SE from the team which was allotted the challenging
project in the previous month. In exchange, one EE is shifred from the former team o the latter tearm

. After the abowe exchangs, if T1 has any SE and TS has any RE, then one SE isshifted from T1 to TS, and
orne RE 15 shufted from TS to T1. Also, of TZ has any 5E and T4 has any RE. then one SE 15 shufted from T2 to
T4, and one RE is shifted from T4 to T2

Each standard project has a total of 100 credit points, while each challenging project has 200 credit points,
The credit points are ejqually shared Detwesen the employees included in that team.

Sub guestions

Question Mamber : 51 Question Id : 4891686068 OQuestion Type : MO Option Shaffling : Yes Display Question Number : Yes
Single Line Question Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1
The number of times in which the composition of team T2 and the number of times in which composition of
team T 4 remained unchanged in two successive months are:
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(Iptioms :
= = 1

- .—.-d-.l
z ¥ (1.0
3 ® 00
4. #® (1,1)

Uuestion Momber 1 52 Choestion Ld @ 4891686046 Ouestion Type : MOC} Option Shuffing : Yes Display Cuestion SNombeer @ Yes
Single Lime (Puestion (ption : Mo (Optien COrientation : Verticsl

Correct - 3 Wrong = 1

The umer of SEin T1 and TS for the peojects in the thind month are, respectively:

(Iptisms :

=_eoEa
L LN L R L%

UJuestion Momber : 53 Choestion 1d : 4891626070 Ouestion Type : MOC} Option Shuffing : Yes Display Cmestion SNombeer @ Yes
Single Lime Question (pison : Mo (ption Cdrriemtation @ Verticsl

Correct - 3 Wromg - 1

Which of the following CANMOT be the total credit points earned by any employee from the projects?
Optinms :

1. ® 140

2. # 150

3. % 170

4. % zo0

Uueestion Namber : 54 CQuestion Id @ 4E916E8607]1 (Puestion Type - MO Option Shoffling : Yes Display COoestion Nombeer @ Yes
Single Lime Question (pison : Mo (ption Cdrriemtation @ Verticsl

Correct -3 Wromg - 1

Cmee of the emplovess named Aneek scored 185 points. Which of the following CAMMNOT e true?

(Iptioms :

1. ¥ Aneek workesd only in tsams T1, T2, T2, and T4

2 ® pneek worked only inteamsT1, T2, T4, and TS

2 ® pneek worked only in tsams T2, T3, T4, and TS
4. % Aneek worked only in teams T1, T3, T4, and TS

Uuestion Id : 4891686297 (Question Type - COMPREHENSION Sab (uestion Shoffling Allvwed @ Mo Groop Compreliemsion
Juestions @ Mo
Uuestion Mambers @ (55 to 5K)
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In a square layout of size Sm x 5m, 25 equal-sized square platforms of different heights are built.

The heights (in metres) of individual platforms are as shown below:

8 X & 4 '3
9 X & 2 B
T 85 4 0 :B
S ¥ J- 3 2
E R %W 88

Individuals {all of same height) are seated on these platforms. We say an individual A can reach an
individual B if all the three following conditions are met:

(i) A and B are in the same row or column
() A is at a lower height than B

(i) If there is/are any individual{s) between A and B, such individual(s) must be at a height lower
than that of A.

Thus in the table given above, consider the individual seated at height 8 on 3rd row and 2nd column.
He can be reached by four individuals. He can be reached by the individual on his left at height 7, by
the two individuals on his right at heights of 4 and 6 and by the individual above at height 5.

Rows in the layout are numbered from top to bottom and columns are numbered from left to right.

Sub gquestions

Cuestion MNumber : 55 Question 1d : 4891686298 Question Type : MOQ Option Shoffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

How many individuals in this layout can be reached by just one individual?

Options :

1. %3

2. %5

3 ¥7

4 % g

Omestion Number : 56 (Question Id : 4891686299 Question Type : MOOQ Option Shoffling : Yes Display Question Number @ Yes
Single Line OQuestion Option : No Option Orientation : Vertical

Correct : 3 Wrong: 1

Which of the following is true for any individual at a platform of height 1 min this layout?

Options :

1. ¥ They can be reached by all the individuals in their own row and colurmm.

2. ® They can be reached by at least 4 individuals.

2. ¥ Thevy can be reached by at least one individual.

4. % They cannot be reached by anyone

Cruestion Number : 57 Question Id : 4891686300 Ouestion Type @ MO tion Shuffling : Yes Display Question Number : Yes
Single Line Ql.estllm Option : Mo ﬂptmn Orientation : ‘EanE Op "

Correct : 3 Wrong : 1
We can find two individuals who cannot be reached by anyone in

(¥ptions :
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1. ® the last row.

2 % the fourth row
3.+ the fourth colurmn.
4 % the middle column

Omestion Number : 538 Question Id : 4891686301 Question Type : MOOQ Option Shaffling : Yes Display Question Number : Yes
Single Line (Muestion Option : No Option Orientation : Vertical

Correct : 3 Wrong: 1

Which of the following staternents is true about this layout?

(dptions :

# Each row has an mdividual who can be reached Dy o or more mdividuals.

[

# Each row has an individual who cannot be reached by anyone

VALY

# Each row has at least two individuals who can be reached by an equal number of individuals

i s

¥ All individuals at the height of 9 m can b2 reached by at least 5 individuals.

Omestion Id : 4891686344 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Cnestions : Mo

Cnestion Mumbers @ (39 to 62)

A new arlines Company 15 planming to Start Operations in a country. The company has wlentified ten different
Cities wihch they plan 1o Connect through theair network to start wath. The ﬂlght duration Detwesrl any pair of
Cities will De less than one hour. To start operations, the company has o dedide on a daily schadule.

The underlying principle that they are working on is the following:

Any person staying in any of these 10 cities should be able to malke a trip to any other city in the meorning and
should be able to return by the evening of the same day.
Sub questions

mestion Number : 59 tion Id : 4891686345 tion Type : MC tion Shuffling : Yes Displ estion Number : ¥
Singie Line Question Option - No Optian Otientatton : Vertiest 0 Option Shuffling: Yes Display Question Number : Yes
Correct : 3 Wrong z 1
If the underlying principle is o be satisfied in such a way that the journey betwesn any two cities can be
performed usimg only direct {non-stop) flights, then the minimom number of direct flights to be scheduled 1s:
(dptions :
1. ® 45

2. % a0

=

3. 180
4 ¥ 135

Ouestion Mumber : 60 Question Id : 4891686346 Question Tyvpe : MO Option Shuffling : Yes Display Question Mumber : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong z 1

Supposs thres of the ten cities are to e developed 45 ubs. & Dul s a aty wihich 15 connectad wath every other
city by direct flights each way, both in the meorning as well as in the evening. The only direct flights which will
e scheduled are originating and jor Errrnnating in ons of the hubs. Then the rmuninmm nomber of direct
ﬂignts that nead o be schedulad =0 that the underlying principls of the amrline o serve all the ten Cites 15 met
WMot vISItng meore than one hub during one wip is:

(ptions :

1. ® 54

o B 120
3. v gg
4. ® g0
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Question Mamber : 61 Question Id : 4871686361 Question Type : S5A Display Question Number © Yes

Correct : 3 Wrong : 0

Supposa the 10 anes are divided mid 4 distnct groups Gl, G2, G323, o4 having 3, 3, 2 and 2 Cibes respachvely
and that G1 consists of cities named &, B and C. Further, Suppose that direct ﬂlgﬂ[S are allowed only Detween
e Cities sansfying one of the following:

1. Both cities are in <1

Z. Betwean A and any City in G2
3. Betwesn B and any city in G3
4. Betweaan C and any ity i o4

Then the rrnirmum ourmber of direct flights that satisfies the underlying principle of the airlins is:
Response Type: Mumeric

Evaluation Required For $4: Yes

Answers Type: Equal

Possible Answers :

CQuestion MNumber : 62 Question 1d : 4891686362 CQuestion Tvpe : SA Display Question Number : Yes

Correct : 3 Wrong : 0

Supposa the 10 cities ara divided into 4 disunct groups G1, G2, G2, G4 having 2, 2, 2 and 2 cities raspactivaly
and that 31 consists of cities named A, B and C. Further, suppose that direct flights are allowed only between
twn Cities sansfying one of the following:

1. Both cities are in S1

2. Betwean & and any City in G2
=2 Between B and any city in G2
4 Between C and any City in G4

Howewver, due to operational difficulties at A, it was later decided that the only flights that would operate at &
would Be those to and from B, Cities in G2 would have to be assigned w33 or 1o 54,

WAt would Be the masinmum reduction in the nomber of direct flights as cormparad to the situation before the
operaticnal difficulties aross?

Response Type: Mumeric

Evaluation Required For 5A: Yes

Answers Type: Equal

Possible Answers :

Ouestion Id : 4391686349 Question Type : COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
(ruestions : No

uestion Mombers @ (63 to G6)

Four cars need o travel from Akala (4) vo Bakala B). Two routes are available, one wia Mamur ) and the other
wid Manur (). The roads from A to M, and from N to B, are both short and narrow. In each cass, one car takes
& rnutes to coser the distance, and each additional car increasaes the trawel time per car by 2 minutes because
of congestion. (For example, if only two cars drive from & to M, each car takes 9 minutes.) On the road from &
to M, one car takes 20 minutes, and each additional car increases the travel time per car by 1 minute, On the
road from M to B, one car takes 20 minutes, and each additional car increases the travel time per car by 0.9
rrinute

The police department orders each Car to take a particular route in such a manner that it is not possible for
any car wo reduce its wavel time by not f-:u]l::uwing the order, while the other Ccars are f-::llr:uwing the order.

Sub guestions

Ouestion Number : 63 Question Id : 4891686359 Question Tvpe : 8A Display Question Number : Yes
Correct : 3 Wrong : 0
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How rany cars would be askad to take the route 4-MN-B, that is Akala-MNanur-Eakala route, by the police
department?

Response Type: Mumeric
Evaluation Required For SA: Yes
Answers Tyvpe: Equal

Possible Answers :

Cruestion Number @ 64 Question Id : 48916806351 OQuestion Type @ MO tion Shuffling @ Yes Display Question Number 2 Yes
Single Line Question Option : Mo Option (rrientation : \-"ertil::l:l Op - ”

Correct : 3 Wrong : 1

1f all the cars follow the police order, what is the difference in travel tme {in minutes) between a car which
takes the route 4-M=B and a car that takes the route 4-MM-E7

Options :

1. %

2% 01

= ® oz

4 B 09

Oruestion Number : 65 CQuestion Id : 48916863600 Question Type : SA Display Question Number : Yes

Correct : 3 Wrong : 0

A neEw one—way road 1= buailt from M oo M. Bach Car niow nas three pOEEiblE roukes to travel from A o B A-M-EB,
A-M-Band A-M-I-E. On the road from M 1o M, one car takes 7 rmunuates and each additional car increases the
trawel tirmne pear car by 1 rminute. Assurrne that any car '[Elkiﬂg the &-M-M-E route trawvels the A-M Poraon at the

same tme as other cars taliang the A-M-E route, and the N-BE portion at the Same nme as other cars taling the
A-M-E route.

Howr many cars would the police departmment order o take the A-M-HN-B route 50 that it 15 not possible for anwv
car o reduce its travel tme by not fﬂ]ll’.‘l‘:ﬁ.l'iﬂg the order while the other cars follow the order? (Assume that the
police department would never order all the Cars 1o take the Same nouts. )

Response Type: Mumeric
Evaluation Required For 5A: Yes
Answers Type: Equal

Possihle Answers :

(mestion Mumber : 66 (Question Id : 4891686353 Question Type : MO} Option Shaffling : Yes Display Question Number : Yes
Single Line (tuestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

A new one-way road 1S built from M o W, Bach car now has three poEsible routes th travel from & to B A-M-E,
A-MN-E and A-M-IM-E. On the road from M 1o M, one car talkes 7 rmunutes and each additional car increases the
travel tirmne per car oy 1 rrarnuate. AsSsurme that any car '[Ell{jﬂg the A-M-M-E route travels the A-M pornon at the
Same trme as other cars taling the A-M-E route, and the N-E portion at the Same orme as other cars taking the
A-M-E route.

If all the cars follow the police order, wihat 15 the i travel e (0 runutes) from A to B? (Assurrne that
the police departrment would never order all the Cars to take the sarme route.)

{dptions :
1. ¥ 25
2. ¥ 32
5. %299
4 % 30
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QUANTITATIVE ABILITY

Chuestion MNumber : 67 Question Id : 4891685644 Question Type : 5A Display Question Number : Yes

Correct : 3 Wrong : 0

Arun's presant age in years is 40% of Barun's. In another few years, Arun's age will e half of Barun's. By what
percentage will Barun's age increase during this period?

Response Type: Mumenc
Evaluation Reguired For 5A: Yes
Answers Type: Equal

Fossible Answers =

Cuestion Number @ 68 Question 1d : 48916806369 Question Type @ 5A Display Question Number : Yes

Correct : 3 Wrong : b

A person can complete a job in 120 days. He works alone on Day 1. COn Day 2, he 15 joined by another person
whio also can complete the job in exactly 120 days. On Day 3, they are joined by ancther parson of equal
afficiency. Like this, everyday a new person with the same efficiency joins the work. How many days are
required to cormplets the job?

Response Type: Mumenc
Evaluation Required For 5A: Yes
Answers Type: Equal

Possible Answers ¢

COuestion Number @ 69 Question Id : 4891686370 Question Type : SA Display Question Number : Yes

Correct : 3 Wrong : 0

A alavator Nas a weight it of 620 kg Itiscarrying a group of paople of whorn the heaviest weighs 57 kg
and the lightest weighs 53 kg, What is the maximum possible nurmbear of people in the group?

Response Type: Mumenc

Evaluation Regquired For SA: Yes

Answers T'ype: Equal
Fossible Answers @

Cruestion Mumber @ 70 Question Id : 48916806371 Question Type @ 5A Display (Question Sumber @ Yes

Correct = 3 Wrong :

A man leaves s home and walks at a speed of 12 km Fer hour, reaching the railway statdn 1O minutes aftar
the train had departed If instead he had walked at a speed of 15 kn e hour, he would hawve reached the
station L0 rminutes before the train's departure. The distance {in k) frorm his home to the railway station is

Response Type: Numenc
Evaluation Required For SA: Yes
Answers Type: Egual

Possible Answers :

Cuestion Mumber : 71 Question Id : 4891686371 Question Type : SA Display Question SNumber : Yes

Correct : 3 Wrong : 0

Rawi invests 50% of his monthly savings in fixed deposits. Thirty percent of the rest of his Savings is inveshad
in stocks and the rest goes into Ravi's savings bank account. If the total amount depoesited by him in the banlk:
(for sawvings account and fixed deposits) is Rs 59500, then Ravi's total monthly savings (in Rs) is

Response Type: Numernc

Evaluation Required For 5A: Yes

Answers Type: Egqual

Fossible Answers ©
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Question Number : 72 (Juestion 1d : 4891685586 Question Type : MO0 Option Shuffling : Yes Display Question Number : Yes
Single Line (uestion Option : No Option Orientation : Vertical

Correct 3 Wrong : 1

If & saller gives a discount of 15% on retail price, she still makes a profit of 2% Which of the following ensures
that she makss a profit of 20%7

Oiptions 2

1. ¥ Givea discount of 5% on retail price

2. ® Give a discount of 2% on retail price
3. ¥ Increase the retail price by 2%
4.+ sell at retail price

(ruestion Number : 73 Question 1d : 4891685603 (uestion Type : MO} Option Shoffling : Yes Display Question Number : Yes
Single Line (uestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

& man travels by a motor boat down a river to his office and back With the speed of the river unchanged, if he
doubles the speed of his motor boat, then his total travel time gets reduced by 75%. The ratio of the original
spead of the motor boat to the speed of the river is

(ptions :

Cuestion Mumber : 74 Question Id : 4891685621 OQuestion Type : MOOQ Option Shoffling : Yes Display Question Number : Yes
Single Line {Juestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

Suppose, C1, C2, C3, C4, and 5 are five companies. The profits made by C1, C2, and <3 are in the ratio 9
10 : 8 while the profits made by C2, C4, and C5 are in the ratio 15 : 19 : 20, [ C5 has made a profit of RS 19
crore more than 1, then the total profit (n Rs) made by all five cormpanies is

(ptions :

¥ 438 crore

=

® 43C crore

L

¥ 348 crore
® 345 crore

o=

Question Number @ 75 Question Id : 4891685627 Question Type @ MO0y ﬂptinn Shuffling : Yes Display Question Number @ Yes
Single Line (Juestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

The number of girls appearing for an admission test is rwice the number of boys, 1f 20% of the girls and 45%
of the boys get admission, the percentage of candidates who do not get admission is

(piions :

1. % 35

2. % 50

3 % g0

4 ¥ 65
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Cruestion Mumber : 76 Question 1d : 4891685629 Question Type : MO Option Shuffling : Yes Display Question Number : Yes
Single Line (uestion Option : Mo Option Orientation : YVertical

Correct : 3 Wrong : 1

A stall sells popcorn and chips in packsts of three sizes: largs, super, and jurnbo. The mumiters of large, super,
and jumbo packsts in its stock are in the ratio 7 : 17 © 16 for popoorn and 6 - 15 14 for chips. If the total
nurnber of popoorn packets in its stock 15 the same as that of chips packsts, then the numbers of jurmbo
popoorn packets and jumbd Chips packets are in the rato

(ptions :

1.v1:1

% 8:7

iy
L

b
b

£

[T

Cruestion Number : 77 Question Id : 4891685635 Question 'h'pe MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line (puestion Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

I a markat, the price of mediurm Juality mangoss 1= half that of good rmangoes. A shoplkeepar buys 50 kg
2ood mangoes and 40 kg madium quality mangoes frorm the market and then s=lls all these at 8 Corrumnon price
which is 108 less than the price at wihich he bought the good ones. His owerall pmﬁ't is

(ptions :

1. ® 6%

2 ¥ 8%

3% 10%

g4 % 17%

(ruestion Number : T8 Question Id : 4891685697 Question Type : MOy ['lptinn Shuflfling : Yes Display Question Sumber : Yes
Single Line (duestion Option : No Option Orientation : YVertical
Correct : 3 Wrong : 1

If Fatirna sells 60 identical toys at a 40% discount on the printed price, then she makes 20% profit. Ten of these
toys are destroved in fire. While selling the rest, how much discount should be given on the printed price 50
that she can make the same armount of profit?

(ruestion Number : 79 Question 1d : 4891686125 Question Type : MOQ) Option Shuffling : Yes Display Question Yumber : Yes
Single Line Qruestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

1fa and b are integers of opposite signs such that @ + 3% b° = 9: land @ - 1% -1% = 4: 1,
then the ratioa® - b°

kTS
Orptions :

L)
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Omestion Number @ 80 Question Id : 4891686236 Question Type : MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrongz : 1

A class consists of 20 boys and 20 girls. In the mid-semeaster exarmination, the average score of the girls was S
higher than that of the bovs. [n the final exam, however, the average score of the girls dropped by 2 while the
average score of the entire class increased by 2. The increase in the average score of the Loys is

Orptions :

1.¥ a5

2 % 10

3. % 45

4 B g

Ouestion Mumber : 81 Question Id : 4891685592 Question Type : MOOQ Option Shoffling : Yes Display Question Number : Yes
Single Line (Juestion Option : Mo Option Orientation : Vertical )

Correct : 3 Wrong : 1

The area of the closed region bounded by the equation | x | + | v | = 2 in the two-dimensional plane is
Oiptions 2

1. ¥ 4n

2. % 4

¥ 3

4 ® oqn

L1

Cuestion Mumber : 82 (Question Id : 4891685670 Question Tyvpe : MOOQ) Option Shoffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct =3 Wrong : 1
From a triangle ABC with sides of lengths 40 ft, 25 ft and 35 ft, a triangular portion GBC is cut of F where G is
the centroid of ABC, The area, in sq ft, of the remaining porton of triangle ABC is

Oiptions 2
—
« 225V3
SO0
V3
o
275
=5 = ‘JE
250
4 W3

Ouestion Number : 83 Question Id : 4821686170 Question Type : MOOQ Option Shaffling : Yes Display Question Number : Yes
Single Line Question Option : Mo Option Orientation : Vertical

Correct : 3 Wrong = 1

Let ABEC be a right-angled isosceles triangle with hypotenussa BC. Let BOC be a sermi-circle, away from A, with
diameter BC. Let ERFC be an arc of a circle centered at A and I?ing betweaen BC and BOC. If AE has ].Eﬂgﬂf]. B 1Tl
then the area, in sq cm, of the region enclosed by BPC and BOC is
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Ouestion Mumber : 84 Question 1d : 489168619 Question Type : MO(Q) Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

& 50lid rmetallic cube is meltad wo form five solid cubes whose volumes are intheratio 1. 1 8 27 27. The
percentage by which the sum of the surface areas of these five cubes exceeds the surface area of the original
Cube 15 nearest to

Ciptions :

1. % 10

2. ¥ 50

2. % g0

4. % 20

Cuestion Number : B3 Question Id : 48916385730 (Juestion Tyvpe : 5A Display Question Number : Yes
Correct : 3 Wrong : 0
& ball of diarmeter 4 crm is kept on top of a hollow cylinder standing wertically. The height of the cylinder i= 3

crn, while its volume 15 91 Cﬂ'lg Then the wertical distance, in cm, of the topmost point of the ball from the
base of the cylinder is

Response Type: MNumernc

Evaluation Required For 5A: Yes

Answers Type: Equal

Possible Answers :

Cruestion Number @ 86 Question Id : 4891636373 (Juestion Tvpe : 5A Display Question Number @ Yes
Correct : 3 Wrong : 0
Let ABC be a right-angled triangle with BC as the hypotenuss, Lengihs af AR and AC are 15 lam and 20 lan,

respectively. The minimum possible time, in minutes, required to reach the hypotenuse from A at a speed of
20 kan per hour is

Response Type: Mumenc
Evaluation Required For 5A: Yes
Answers Type: Equal

Fossible Answers :

Juestion Number : 87 Question Id : 4891685606 Question Type : MO Option Shoffling : Yes Display (Juestion Number : Yes
Single Line (tuestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

Supposs, Ic:g3 X = ]lz:ug12 v = a, where x, v are positive numbers. If G is the geometric mean of x and v, and lﬂgﬁ

G 15 equal to
Cptions :

i B \'Elr

o B lo

B afl

44 @
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Cruestion Number : B8 (uestion 1d : 48916853654 (uestion Type : MOO) Option Shaffling : Yes Display (uestion Number : Yes
Single Line (ruestion Option : No Option (hrientation : Vertical
Correct : 3 Wrong : 1

2 andx > 0, then Ex"' is

Fx+l=x
Cptions :
x B+ 45

o % 3I+5{5

- % 5+ 35

> T+ 3v5

Crnestion Mumber : B9 Question 1d : 4891685661 Juestion 'hpe MO Option Shuffling : Yes Display Chuestion Number : Yes
Single Line Clnestion Option : Mo Option Orientation : Yertical

Correct : 3 Wrong : 1

The value of logooos V5 + log 581 — 7 is equal to

ptions 2

& 1

o=

Croestion Number @ 90 Question 1d : 4891685792 Question Type : MOOQ Option Shaffling @ Yes Display OQuestion Mumber @ Yes
Single Line (huestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : |

ifo™*1_g81%1= 1944, then x is

Options :

1. % 3
2 v 9)4

J.% dfH

4 8 1(3
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Cruestion Number : 91 Cuestion Id : 4891636114 Question Type @ MOy ﬂptinn Shuffling : Yes Display Question Number : Yes
Single Line Qruestion Option : Mo Option Orientation : Vertical

Correct : 3 Wrong = 1

The number of solutions ( x, ¥, 2) to the equation x -y - 2 = 25, where x, ¥, and z are positive integars such
thatx = 40, vy = 12 and z = 1215

(ptions :

1. % 101

Cruestion Number @ 92 Cuestion Id : 48916306374 Question Tyvpe : 5A Display (Juestion Number @ Yes
Correct : 3 Wrong : U

For how many integers n, will the inequality (n - S)(n - 10) - 3{n - 2) = 0 be satisfied?
Response Type: Mumeric

Evaluation Required For 8A: Yes

Answers Type: Egqual

Possible Answers @

Cruestion Number @ 93 Cuestion Id : 48916306375 Question Tyvpe : 5A Display (ruestion Number @ Yes
Correct : 3 Wrong : U

If fl ) = :-:? 4+ 1llx +nand F2 (x) = x, then the largest positive integer n for which the equaticn
f1 ) = l“2 (%) hias two distinct real roots, is

Response Type: Numernic
Evaluation Required For 8A: Yes
Answers T'ype: Equal

FPossible Answers :

Cruestion Number @ %4 Cuestion Id : 48916306376 Question Tyvpe : 5A Display (Juestion Number @ Yes

Correct : 3 Wrong 2 0}

Ifa b ¢ and d are integers such thata + b + ¢ + d = 30, then the minirmum possible value of
@-0’+@-of+ @-a’is

Response Type: Numenc

Evaluation Required For 3A: Yes

Answers Type: Equal

Possible Answers :

Caestion Number : %5 (puestion Id : 4891686263 CJuestion Type : SA Display Cuestion Nomber : Yes

Correct : 3 Wrong : U

Let AR, CD, EF. GH, and JE be five diameters of a circle with center at O, In how many ways can three points be
chosenout of A, B, C, D, E, F, G, H, ], K, and O 50 as to form a triangle?

Response Type: Mumenc

Evaluation Required For 5A: Yes

Answers I'vpe: Equal

Possible Answers :
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Cruestion Number : %6 Question 1d : 4891685600 Question Type : MOQ Option Shuffling : Yes Display Question Number : Yes
Single Line (uestion Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

The shortest distance of the pmnt[l-l}frum the curvey = [x=1] + [x+ 1] is

(kptions :

1w b

L1l

Question Number : 97 Question 1d : 4891685636 Question Type : MO} Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

If the square of the 7th term of an arithmetic progression with positive cormnmon difference equals the product
of the 3rd and 17th terms, then the ratio of the first term to the cormmon difference is

(ptions :
1.v2:3
2 %32
3. % 3 4
4 ® 4.3

Question Number : 98 Question 1d : 4891685686 Question Type : MO} Option Shuffling : Yes Display Question Number : Yes
Single Line (uestion Option : Mo Option Orientation : Vertical

Correct : 3 Wrong : 1

In how many ways can 7 identcal erasers e distributed among 4 kds in such 4 way that each lad gets at least
One eraser but nobady gets more than I erasers?

(rptions 2

1.+ 16

2. % 20

= ® 14

4 % 15

Ouestion Namber : 99 Question Id : 4891686081 Question Type : MO(Q) Option Shuffling : Yes Display Question Number : Yes
Single Line (uestion Option : No Option Orientation : Vertical

Correct : 3 Wrong : 1

and g(x) = x* — 2x — 1, then the value of g [ f{F(3))) is

Sx 4+ 2
if fix) = -

x=5
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Options :

1 & 2

E
| b

Question Number : 100 Question Id : 4821686211 Question Type : MOCOQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 3 Wrong : |
Let a3, 81,..., 83, be an arithmetic progression with a; =3 and a; = 7. if 83+ a3 +...+ 83, = 1830,
then what is the smallest positive integer m such that m(a;+ a; +...+ a,) > 18307

Options :

1. * 8

2 ¥a

®* 10

L

%11

o
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